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1.(8%) A 5.010-g sample of a DDT—containing pesticide was decompased with metal-
lic sedium in alcohol, and the liberated chloride ion was precipitated as AgCl. Ex-
press the results of this analysis in terms of the percentage of DDT (fw=354.5)
based upon the recovery of 0.1616 g of AgCl. (Ag = 107.870, Cl=35.453)

2. {8%) The iron in a 100.0-mL sample of Spring water was reduced to the + 2 state,
and treated with 25.00 mL of 0.002107 M K,Cr,0,:

6Fe2+ 4+ Cr,0% + 14H* > BFe3+ . 2Cr3+ + 7H,0.

The excess K,Cr,0, was back-titrated with 7.65 mL of 0.00987 M Fe2+. Calculate

the parts per million {ppm) of Fe in the water sample. (Cr=51.998, Fe =55.847,
K,Cr,0,=294,19)

3. (8%) Calculate the hydronium ion cancentration of 3 0.080 M NH

4 Solution.
The base dissociation constant (K,) for NH, is 1.76x10°,

4. {8%) Calculate the pH of a solution that is 0.250 M in NH; and 0.360 M in NH,CI.

5. (12%) Far the titration of 50.00 mL of 0.00500 M NaBr with 0.01000 M AgNO, (for
AgBr, K” = 5.2x10°'3), calculate PAg values at the following points --
a. initial point (i.e., before titiration)
b. after addition of 5.00 mL of reagent
. at the equivalence point
d. after addtion of 25.10 mL of reagent

6. (6%) Consider a redox reaction in which reductant A reacts with oxidant B to vield
A' and B'. Assuming A, B, A’, and B’ are in equillibrium, calculate Km for the equil-
librium. (The electrode potentials for following electrode reactions are respectively

El and E3.A + ae z==A" and B + be == g






